X218 classl

3/7




1.Shell

[kcao@h1-Igl test]$ sh fun.sh The little Prince.txt 100
$1 $2

s Af (1 a8 11 [ -z 52 1then DHIWIS1, 20T FEHIN T K

echo "! ! ! &4 a8 ACHEFITEL H. A

. e $1.outputs& 517 17

5 elif [ -e .output ];then

5 rm —rf .output S TT Vs Wb

1 ” QBT U Atotal/$2

B cat |tr -sc [:alnum:] "\n"|tr [:upper:] [:lower:] >5l.a.pure.txt RN .
1C total="cat $l.a.pure.txt|we -1 ° @4%{krat|o,t0ken ,f%ﬁ E$1 Output
12 for i in "Seq 1 S[Stotal /52] xlﬁé—}_—f]‘[:;:: [kcao@hl»lgl test]$ echo $[ 8/3 ]

- 2
13 do 1
14 head -n 1% ] .a.pure.txt>tmp file ékcao@hl~1g1 test]$ echo $[ 2/3 ]
13 words= cat tmp file|wc -1 [kcao@hl-1gl test]$ echo "scale=4;2/3 "|bc
16 token= sort tmp file|uniq |we -1 .6666

17 ratio=" echo "scale=4;S$token / Swords " |bc’ [kcao@hl-1gl test]$ awk 'BEGIN{printf "%.4f\n",2/3}'

18 echo -e "$[ 1*$2 J\t$Sratio\t$token" >>51.output 0.6667
112 done



2.R

Article<-read.table(". /The little_Prince.
colnames(Article)<-c(’ gt f_article
p<-(ggplot(Article, aes(x 1ength of art1c1e))
+geom_line(aes(y=ratio, co1- atio™))
+geom_1line(aes (y=token/23: = "t )

ratio

+scale_y_continuous (sec. ax1; = sec ax1s(~ %2332, name
+scale_color_manual (values = c( , 'blue™))
+theme(legend. position = c(0. ,.,))

+1abs(color=' e")
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|| The_little_Prince. txt [2]. outputkd |E fun [3].
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